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Longer overlap for modern humans and HIEHE
Neanderthals
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Modern humans are prime suspects in the extinction of the Neanderthals - the
ancient species that disappeared from Europe almost as soon as our ancestors

arrived.
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It's unclear whether we competed with them or wiped them out through disease,
but a tooth and bones from Bacho Kiro cave in Bulgaria suggest modern humans
were in Europe 46,000 years ago, earlier than previous evidence from Britain and

Italy.
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This would mean the two species co-existed for as long as 5,000 years. Pendants
from the Bulgarian cave resemble those made by Neanderthals, suggesting we

exchanged ideas.
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The finds imply the reasons for their extinction were complex, and factors such

as climate change may have played a role.
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2. EEEME. WHERT EXE, BETIHHE . (FRAITIO

1. True or false? Our ancestors wiped out the Neanderthals through disease.
2. What did the pendants from the Bulgarian cave suggest?

3. According to the text, for how long did the two species co-exist?

4. Based on the finds, what may have played a role in the Neanderthals’
extinction?
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3.BR
1. True or false? Our ancestors wiped out the Neanderthals through disease.

False. It's unclear whether we competed with them or wiped them out through
disease.

2. What did the pendants from the Bulgarian cave suggest?

The pendants from the Bulgarian cave resemble those made by Neanderthals,
suggesting we exchanged ideas.

3. According to the study, for how long did the two species co-exist?
According to the study, the two species co-existed for as long as 5,000 years.

4. Based on the finds, what may have played a role in the Neanderthals’
extinction?

Factors such as climate change may have played a role.
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